X SAR—Y 7 = 7202505 BT RN /KK K2 1/3
2 BERJIINAAL 2777 (25m)
WA ;202544 H20H (H)

No. 18 BB+ 50m BHF B A LL—R R
B K £ T B 2E KK icE
1 #k iy KIEFGE SR =3 20/ 4 23.73 10#% ( 0.64)
2 Ak K Iz B S C =2 20/ 5 24. 21 9%% ( 0.70)
3 /NEE E+L 77~ AR 3 20/ 3 25. 14 8%k ( 0.67)
4 (hN i 77~ AEI =2 20/ 6 25.22 8#%k ( 0.79)
5 bl #EF a0 P =119/ 5 25. 62 Sfk ( 0.58)
6 )il £ 2P 2 20/ 2 25. 88 10#% ( 0.70)
7R (e 77~ A =2 20/ 1 25. 96 7#% ( 0.58)
8 i il 2% AR 3 20/ 7 26.03 8% ( 0.57)
9 JbHrEIRER AquaZ F3 19/ 3 26.10 St ( 0.69)
10 Y AEFR EEREER =3 19/ 6 26.17 65% (0.67)
11 R H KRR oA H3 16/ 6 26.18 7#%  ( 0.67)
12 AW Wik 77 NAKE 2 18/ 4 26. 21 9%k ( 0.67)
13 [UF B4R =N =] =2 19/ 4 26. 59 6% ( 0.63)
14 B Bif t—e—SS 2 18/ 6 26. 61 9%k ( 0.74)
15 #Kk B KLVT 4 F3 18/ 7 26. 62 8#%k (0.71)
16 FHH K& I P 2 =i =1 19/ 7 26. 64 65% ( 0.77)
17 B EBEE AKHS S 2 18/ 3 26. 65 9% (0.72)
18 5l Al 7B S S 2 19/ 2 26.93 8%k (0.71)
19 &k f&E 7B S C =2 18/ 5 26.99 6% ( 0.81)
19 Ml =R 77 FAKHE =1 19/ 1 26. 99 65% ( 0.76)
21 WEH Bk KiEILS S 2 18/ 2 27.217 8#% ( 0.75)
22 2% Eo w] R 2 16/ 4 27.50 8f% ( 0.76)
23 [ fEsb EHEEKR =3 18/ 1 27. 51 4% ( 0.65)
24 /v 1&RE I E S C 12 16/ 3 27. 61 St (0.71)
25 B BEK o< S S il m3 17/ 5 27.87 65% ( 0.69)
26 T I&sE 77~ AEI 2 16/ 2 27. 91 % (0.79)
26 H FE 2+ S St 3 17/ 4 27. 91 6% ( 0.68)
28 i R AqualZzZ 2 16/ 1 28. 04 7%k ( 0.64)
20 BEAT  ERSE 2+ S S HI 3 17/ 3 28. 14 6%  ( 0.69)
30 EAIERR £E_ESC F2 16/ 5 28.19 7% (0.75)
31 I A r—wm—SS 1 14/ 4 28. 62 8tk ( 0.62)
32 JEE FEth B =317/ 7 28. 63 3% ( 0.64)
33 LHE KRk Bei73 F3 17/ 6 28. 67 5%k (0.72)
34 K &3+ 3= =3 17/ 2 28. 74 3%k ( 0.69)
35 FH [ [ e a2y X 3 16/ 7 28. 80 5% (0.72)
36 [MMHE FRAE =N =] 1 15/ 6 28. 86 S8t (0.79)
37 kH &3 E2E N =3 13/ 1 28. 89 3%k ( 0.84)
38 ik 2} I B S C 2 15/ 2 28.99 58t (0.79)
39 W B BB ESC F3 11/ 2 29.03 5#% ( 0.80)
40 RS ERK K7 ¢ 2 14/ 1 29.12 65% ( 0.69)
41 HAF BRA Zi5 R 2 14/ 3 29.16 65% ( 0.75)
41 WA K EHEEKR 52 15/ 1 29.16 3tk (0.76)
43 g FIK = A /N6 15/ T 29. 39 9%% ( 0.75)
44 FHH 7R r—e—SS Rl 14/ 2 29. 45 7% ( 0.60)
45 HRE  S#E} B =317/ 1 29. 49 2% (0.74)
46 K15 & 7 B2 155 =2 11/ 7 29. 51 3#%  ( 0.80)
47 HE RN P 2 15/ 5 29.55 5#% ( 0.87)
48 R SEY =) 1 13/ 6 29. 68 T#%  ( 0.64)
49 JlH KFE o< S S il 3 15/ 3 29.75 4%%  ( 0.76)

HOHEE: 4H2TH 6:27



X SAR—Y 7 = 7202505 BT RN /KK K2 2/3
2 BERJIINAAL 2777 (25m)
WA ;202544 H20H (H)

No. 18 BB+ 50m BEHE B A LL— R R
B K £ & PE KR icE
50 filifs g )R =i /N6 15/ 4 29. 81 Stk (0.73)
51 KM #A EHEEKR =3 14/ 5 29. 86 1% ( 1.05)
52 FhiA  ZRIK w] Vg Hr 3 13/ 4 29. 94 2#% ( 0.85)
53 Ji RE T IA S IR 2 14/ 7 30.04 58k (0.72)
54 {AlE BER P ek E =3 13/ 5 30. 14 1% ( 0.83)
55 JINIFF %A HE =PI F3 14/ 6 30.17 3% (0.93)
56 A LK =g lEl N6 12/ 1 30.50 8% (0.79)
57 JIAS  Fok 77 NAKE =l 12/ 4 30.53 1% (0.75)
57 &k Fhln BERL » F3 12/ 5 30.53 3 (0.73)
59 EH  JESE w] R F3 12/ 7 30.58 3% (0.76)
60 thjk 1EZE o N R HIR 110/ 1 30. 71 65% ( 0.70)
61 fE3E Bk IR F2 11/ 5 30.73 4% ( 0.69)
62 AFF & w] Vg HrE o F2 10/ 7 30. 82 4%%  ( 0.84)
63 /Nt RN KLz ¢ v /N6 13/ 7 31.02 T#%  ( 0.75)
64 AR KA 215 R 2 9/ 4 31.09 4% ( 0.77)
65 M FEE ER&EK =3 13/ 3 31.13 ( 0.68)
66 kS i o< S S Il F2 11/ 3 31.17 4%% (0. 80)
67 KIk Bl ek 12 7/ 5 31. 21 3tk ( 0.86)
68 YR A) 2w IR Rl 13/ 2 31.24 5%% ( 0.67)
69 =B SEA o< S S Hl 2 11/ 4 31.47 3 (0.77)
70 /PR SR 77 R AKE B3 12/ 2 31. 61 1% ( 0.85)
1 & X o) I KIE ] 9/ 5 31.63 5%% ( 0.79)
72 B Bihg B S S /N6 11/ 6 31. 66 5%% ( 0.68)
3 #H E£E ok A F3 11/ 1 31.76 ik ( 0.93)
T4 A FE Kv>7 ¢ v /N5 10/ 3 31.85 9%k ( 0.72)
75 E#EH f&f BEAY » 3 9/ 3 32.02 1%  ( 0.85)
76 HH &KL KiEILS S /N5 12/ 3 32.04 9%k (0.71)
T R RS Iz .S S N4 12/ 6 32.24 108 ( 0.80)
78 MR s a2 BB 2 10/ 4 32.39 28% ( 0.75)
79 Ji KA K#EILS S /N 10/ 2 32.45 9% ( 0.68)
80 g A b 7 . 153 =2 8/ 1 32.58 ( 0.76)
81 B[ fe NP EVA /NG 9/ 6 32.93 8#% ( 0.68)
82 mkt &SR PlEAbE =2 9/ 2 32.98 ( 0.73)
83 HIE [EA r—uz—SS ==h] 9/ 7 33.00 3k (0.77)
84 LHh A KiEILS S /N 10/ 6 33.05 9% ( 0.78)
85 g HOEL 7 B 5 =) 7/ 7 33. 46 ( 0.78)
86 R ik Abkz 12 6/ 7 33. 61 I#  ( 1.01)
87 tHE  FEVE AquaZ 1 10/ 5 33. 64 3 (0.72)
88 i K¥E =P AN NI5] NG 9/ 1 33.73 5#% ( 0.92)
89 1A & Ble73 12 5/ 5 33.84 ( 0.83)
90 FAJg S B S S /N3 8/ 5 33. 87 12#% ( 0.66)
91 ik EHK a] g R 3 8/ 3 34.03 ( 0.82)
92 AR &KH N B s 12 8/ 2 34.10 ( 0.82)
93 FlH, K& =PIl NG 8/ 4 34. 11 4%% (0. 80)
94 EEJR EK B ESC 12 7/ 1 34.19 ( 0.79)
95 K% Bl /NP E /NG 8/ 6 34.29 7#%  ( 0.65)
96 WHfl AE NP 12 5/ 3 34.38 ( 1.05)
97 AR KIE =P l'=l /N 7/ 3 34.59 8% ( 0.80)
98 [UH 1% fk o op 3 7/ 4 34.73 ( 0.90)

HOHEE: 4H2TH 6:27



ESAR—Y T =7 20250 B IR FE N K KRR
2 REAA L7774 (25m)

HWIH : 20254E4 H20H (H)
No. 18 BB+ 50m BHF

B A LL—R iRk

3/3

B & 4 & PE KR icE
99 VI |- H ARz 12 6/ 5 34. 81 ( 0.72)
100 t4fE 1B H a N BB /N5 7/ 6 34.92 6% ( 0.80)
101 ZH & K#EIS S /N4 6/ 6 35.17 8% (0.71)
102 d Wik IR 12 7/ 2 35.38 ( 0.76)
103 4Rk =) o3 KE /N5 8/ 7 35.58 65% ( 0.75)
104 M H# ] R 12 6/ 2 36.18 ( 0.81)
105 B9 K] E 25 s 3 6/ 1 36. 51 ( 0.87)
106 &1L K Kvo v /N4 6/ 4 36. 63 7% (0.78)
107 /PR AR KiEILS S /N4 6/ 3 37.08 65% ( 0.79)
108 f&H MiE K#EES S ! 5/ 2 37.12 6% ( 0.93)
109 HH BEHE /R 2 5/ 1 37. 21 ( 0.89)
110 H= ik Blollz3 2 4/ 7 37.38 ( 1.10)
111 )00 FR 7 U N AKE /NG 5/ 1 37.55 4%%  ( 0.93)
112 AH i 2+ S S T /NG 4/ 3 38.10 ( 0.70)
113 Bl ZH K#EILS S /N4 4/ 2 38.32 5%% ( 0.72)
114 HiE# 1A 7 M FE R Hi1 3/ 2 38.39 ( 0.78)
115 A fns Kvo 4w /NB 5/ 4 38. 62 3 (0.72)
116 #K PN BEAY » 12 3/ 5 38.69 ( 0.83)
117 R &K N8 7 s 12 3/ 4 39. 34 ( 0.99)
118 ¢ %% =N N = /N4 4/ 5 39.43 5%k (0.73)
118 &M AKX oI KE ! 4/ 6 39. 43 5%%  ( 0.89)
120 FH BE Kv7 ¢ v /N3 4/ 4 39. 54 7% (0.81)
121 +JH ¥RA A] R 12 2/ 3 39. 65 ( 0.79)
122 Jib Bk KIEIS S ! 3/ 3 39. 89 4%%  ( 0.75)
123 %k R K#EILS S ! 3/ 7 40. 21 4%%  ( 0.65)
124 B, B a XY /N3 2/ 4 40. 42 T#%  ( 0.18)
125 SH #BEA a R UK FHR ] 3/ 6 40. 46 ( 0.85)
126 %l BE = AP /N5 2/ 6 4. 21 1#% ( 0.66)
127 W K5 KLz ¢ v /N4 2/ 5 41. 41 L% ( 0.75)
128 Eifs  wE GBS S /N4 3/ 1 41.56 3tk (0.74)
129 K% K& KL 7 4w /N3 1/ 5 42.36 58k ( 0.88)
130 &8 FHE HiLH h2 2/ 1 43.03 ( 0.93)
131 [hm &= KLz ¢ v /N4 1/ 3 44. 54 L% ( 0.66)
132 W et WAYE S5 /N4 1/ 4 46. 36 ( 0.70)
133 &1l 4 KLV 7 4 v /N3 1/ 6 48. 83 Ltk ( 0.85)
134 BN g3t AR /N2 1/ 7 50. 06 ( 0.81)
135 1k K B F AR H2 2/ 1 54. 83 ( 1.33)
136 AFJE g KLV 4 /N2 1/ 1 58.13 ( 0.77)
SRR L 12 5/ 6 kik4.4 — )
O A . 4H2TH 6:27



